
Adding and Subtracting Polynomials Practice Problems 

1. ሺ3ݔଶ ൅ ݔ7 െ 1ሻ ൅ ሺݔଶ ൅ ݔ3 ൅ 5ሻ 
 

 

 

 

2. ሺ4ݔଷ ൅ ݔ6 െ 4ሻ ൅ ሺ2ݔଶ െ ݔ2 ൅ 9ሻ 
 

 

 

 

3. ሺݔଷ ൅ ଶݔ2 െ ݔ ൅ 5ሻ ൅ ሺ2ݔଷ െ ଶݔ3 ൅ ݔ5 െ 1ሻ 
 

 

 

 

4. ሺ2ݔଶ ൅ ݔ9 ൅ 8ሻ ൅ ሺ3ݔଶ െ ݔ4 ൅ 1ሻ 
 

 

 

5. ሺ5ݔଷ െ ଶݔ2 ൅ ݔ6 െ 3ሻ ൅ ሺݔଷ ൅ ଶݔ3 ൅ ݔ7 ൅ 4ሻ 
 

 

 

6. ሺ4ݔଶ െ ݔ5 ൅ 4ሻ െ ሺ3ݔଶ െ ݔ3 െ 6ሻ 
 

 

 

7. ሺ3ݔଷ ൅ ଶݔ6 െ ݔ2 ൅ 3ሻ െ ሺ2ݔଷ ൅ ଶݔ3 െ ݔ6 െ 5ሻ 
 

 

 

 

8. ሺ2ݔଷ െ ଶݔ2 ൅ ݔ െ 1ሻ െ ሺ6ݔଷ െ ଶݔ5 ൅ ݔ7 ൅ 9ሻ 
 

 

 

 

9. ሺ5ݔଶ െ ݔ5 ൅ 2ሻ െ ሺݔଶ ൅ ݔ2 െ 5ሻ 
 

 

 

 

10. ሺݔଷ െ ଶݔ6 ൅ ݔ4 െ 5ሻ െ ሺ4ݔଷ ൅ ଶݔ4 െ ݔ9 ൅ 1ሻ 



 

 

 

 

 

 

 

 

 

Answers: 

ଶݔ4 .1 ൅ ݔ10 ൅ 4 

ଷݔ2.4 ൅ ଶݔ2 ൅ ݔ4 ൅ 5 

ଷݔ3	.3 െ ଶݔ ൅ ݔ4 ൅ 4 

ଶݔ5	.4 ൅ ݔ5 ൅ 9 

ଷݔ6	.5 ൅ ଶݔ ൅ ݔ13 ൅ 1 

ଶݔ	.6 െ ݔ2 ൅ 10 

ଷݔ	.7 ൅ ଶݔ3 ൅ ݔ4 ൅ 8 

8.െ4ݔଷ ൅ ଶݔ3 െ ݔ6 െ 10 

ଶݔ4	.9 െ ݔ7 ൅ 7 

10.െ3ݔଷ െ ଶݔ10 ൅ ݔ13 െ 6 

 

 

 

 

 

 

 

 

 



Multiplying by Distributing Practice Problems  (Only one variable) 

 

1.     ሺ2x	– 	1ሻሺ3xଶ ൅ 	2x	 ൅ 	7ሻ   

     

   

2.     ሺ4aଶ ൅ 2ሻሺaଶ ൅ 3ሻ	 

 

 

3.   	ሺ3x െ 1ሻሺx ൅ 3ሻ   

                 

 

4.   2x³ሺ4x³ ൅ 2x² െ 3x ൅ 1ሻ       

                   

 

5.    4yሺy² െ 3ሻ   

     

     

6.    ሺx ൅ 2ሻሺ3xଶ െ 5x ൅ 3ሻ  

 

 

7.  ሺc െ 2ሻሺc െ 3ሻ   

 

 

8. ሺ4x	– 	2ሻ²   

                                                

 

9.  ሺ6x െ 5ሻሺx െ 3ሻ ൅ ሺ2x ൅ 1ሻሺ2x െ 1ሻ  
 

 

 

10.    ሺ3y െ 6ሻሺ5y ൅ 2ሻ 



 

Answers: 

1.  ଷݔ6 ൅ ଶݔ ൅ ݔ12 െ 7 

2.  4ܽ⁴ ൅ 14ܽ² ൅ 6 

3.  ଶݔ3 ൅ ݔ8 െ 3 

4.  ଺ݔ8 ൅ ହݔ4 െ ସݔ6 ൅  ଷݔ2

5.  ଷݕ4 െ  ݕ12

6.  ଷݔ3 ൅ ଶݔ െ ݔ7 ൅ 6 

7.  ܿଶ െ 5ܿ ൅ 6 

8.  ଶݔ16 െ ݔ16 ൅ 4 

9.  ଶݔ10 െ ݔ23 ൅ 14 

10.  ଶݕ15 െ ݕ24 െ 12 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



Multiplying by Distributing Practice Problems  (More than one variable) 

1. ሺx ൅ 5yሻሺx െ 7yሻ 
 
 
 
 

2. ሺ2x ൅ 3yሻሺx െ 6yሻ 
 

 

 

 
3. ሺx െ 4yሻሺx െ yሻ 

 
 
 
 

4. ሺ5x ൅ 5yሻሺx ൅ yሻ 
 

 

 

 
5. ሺ3x ൅ yሻሺ2x െ yሻ 

 
 
 
 

6. ሺx ൅ yሻሺ6x െ 4yሻ 
 
 
 
 

7. ሺ2x െ yሻሺx െ yሻ 

 

 

8. ሺ7x ൅ 3yሻሺ6x െ 4yሻ 
 

 

 

 
9. ሺx ൅ yሻሺx െ yሻ 

 

 

10. ሺx െ 5yሻሺx ൅ 7yሻ 



 

Answers: 

1.  ଶݔ െ ݕݔ2 െ  ²ݕ35

2.  ଶݔ2 െ ݕݔ9 െ  ²ݕ18

3.  ଶݔ െ ݕݔ5 െ  ²ݕ4

4.  ଶݔ5 ൅ ݕݔ10 ൅  ²ݕ5

5.  ଶݔ6 െ ݕݔ െ  ²ݕ

6.  ଶݔ6 ൅ ݕݔ2 െ  ²ݕ4

7.  ଶݔ2 െ ݕݔ3 ൅  ²ݕ

8.  ଶݔ42 െ ݕݔ10 െ  ²ݕ12

9.  ଶݔ െ  ²ݕ

10.  ଶݔ ൅ ݕݔ2 െ  ²ݕ35

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



Factoring Completely  (binomails and trinomails with a GCF) 

1. 5x	– 	25x²   
 

           

2.   6x³	 െ 	18x²   
 

   

ଷݔ2   .3 െ ଶݔ18 െ  ݔ72

 

       

4.    ݉ଷ െ 3݉ଶ െ 18݉   
 

   

5.   28x	 ൅ 	35x³   

 

     

ଷݔ3   .6 െ ଶݔ12 െ  ݔ63
 

         

ଷݔ5  .7 ൅  ݔ90

 

 

 

8.  4x⁷	– 	32x⁴ 

 

 

9. ݊ଷ ൅ 2݊ଶ െ 15݊² 

 

 

 

ଷݔ4 .10 ൅ ଶݔ8 െ  ݔ32



Answers: 

1.  ሺ1ݔ5 െ  ሻݔ5

2.  ݔ²ሺݔ6 െ 3ሻ 

3.  ݔሺݔ2 െ 12ሻሺݔ ൅ 3ሻ 

4.  ݉ሺ݉ െ 6ሻሺ݉ ൅ 3ሻ 

5.  ሺ4ݔ7 ൅  ଶሻݔ5

6.  ݔሺݔ3 െ 7ሻሺݔ ൅ 3ሻ 

7.  ଶݔሺݔ5 ൅ 18ሻ 

8.  ଷݔ⁴ሺݔ4 െ 8ሻ 

9.  ݊ሺ݊ ൅ 5ሻሺ݊ െ 3ሻ 

10.  ݔሺݔ4 ൅ 4ሻሺݔ െ 2ሻ 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



Factoring Completely  (Binomials with NO GCF) 

ଶݔ .1 െ 64 

 

 

ଶݔ .2 െ 36 
 

 

ଶݔ16 .3 െ 4 

 

 

ଶݔ .4 െ 81 
 

 

ଶݔ25 .5 െ 16 

 

 

ଶݔ49 .6 െ 36 

 

 

ଶݔ .7 െ 4 
 

 

ଶݔ4 .8 െ 25 

 

 

ଶݔ .9 െ 49 

 

 

ଶݔ81 .10 െ 100 

 

 



Answers: 

1.  ሺݔ െ 8ሻሺݔ ൅ 8ሻ 

2.  ሺݔ ൅ 6ሻሺݔ െ 6ሻ 

3.  ሺ4ݔ െ 2ሻሺ4ݔ ൅ 2ሻ 

4.  ሺݔ െ 9ሻሺݔ ൅ 9ሻ 

5.  ሺ5ݔ െ 4ሻሺ5ݔ ൅ 4ሻ 

6.  ሺ7ݔ െ 6ሻሺ7ݔ ൅ 6ሻ 

7.  ሺݔ െ 2ሻሺݔ ൅ 2ሻ 

8.  ሺ2ݔ െ 5ሻሺ2ݔ ൅ 5ሻ 

9.  ሺݔ ൅ 7ሻሺݔ െ 7ሻ 

10.  ሺ9ݔ െ 10ሻሺ9ݔ ൅ 10ሻ 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



Factoring Trinomials   (With NO GCF and a leading coefficient of 1) 

1. x²	 ൅ 	2x	– 	8 
 
 
 

2. xଶ െ 10x ൅ 24 
 

 

 
3. x²	 ൅ 	2x	– 	48 

 
 

 
4. xଶ െ 14x ൅ 40 

 

 

5. xଶ െ 5x	– 	14 
 

 

6. xଶ ൅ 	11x ൅ 24 
 

 

7. xଶ ൅ 	3x	– 	18 
 

 

8. xଶ െ x	– 	30 
 

 

9. xଶ െ 13x ൅ 42 
 

 

10. xଶ ൅ 	13x ൅ 36 



Answers: 

1.  ሺݔ ൅ 4ሻሺݔ െ 2ሻ 

2.  ሺݔ െ 6ሻሺݔ െ 4ሻ 

3.  ሺݔ ൅ 8ሻሺݔ െ 6ሻ 

4.  ሺݔ െ 10ሻሺݔ െ 4ሻ 

5.  ሺݔ െ 7ሻሺݔ ൅ 2ሻ 

6.  ሺݔ ൅ 8ሻሺݔ ൅ 3ሻ 

7.  ሺݔ ൅ 6ሻሺݔ െ 3ሻ 

8.  ሺݔ െ 6ሻሺݔ ൅ 5ሻ 

9.  ሺݔ െ 7ሻሺݔ െ 6ሻ 

10.  ሺݔ ൅ 4ሻሺݔ ൅ 9ሻ 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



Factoring a Trinomial   (With NO GCF and a leading coefficient greater than 1) 

 

ଶݔ2 .1 ൅ ݔ7 ൅ 3 

 

 

ଶݔ2 .2 െ ݔ12 ൅ 10 
 

 

ଶݔ2 .3 ൅ ݔ9 െ 5 

 

 

ଶݔ2 .4 െ ݔ12 ൅ 10 
 

 

ଶݔ2 .5 ൅ ݔ7 െ 15 

 

 

ଶݔ2 .6 ൅ ݔ5 െ 3 
 

 

ଶݔ3 .7 ൅ ݔ5 ൅ 2 

 

 

ଶݔ3 .8 ൅ ݔ13 ൅ 4 

 

 

ଶݔ3 .9 ൅ ݔ11 െ 4 

 

 

ଶݔ3 .10 ൅ ݔ11 ൅ 10 
 



Answers: 

1.  ሺݔ ൅ 3ሻሺ2ݔ ൅ 1ሻ 

2.  ሺݔ െ 2ሻሺ2ݔ െ 5ሻ 

3.  ሺ2ݔ െ 1ሻሺݔ ൅ 5ሻ 

4.  ሺ2ݔ െ 2ሻሺݔ െ 5ሻ 

5.  ሺ2ݔ െ 3ሻሺݔ ൅ 5ሻ 

6.  ሺݔ ൅ 3ሻሺ2ݔ െ 1ሻ 

7.  ሺ3ݔ ൅ 2ሻሺݔ ൅ 1ሻ 

8.  ሺݔ ൅ 4ሻሺ3ݔ ൅ 1ሻ 

9.  ሺݔ ൅ 4ሻሺ3ݔ െ 1ሻ 

10.  ሺ3ݔ ൅ 5ሻሺݔ ൅ 2ሻ 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 



Factor or distribute, then solve.    
ଶݔ .1 െ ݔ12 ൅ 35     

 

 

ଶݔ2  .2 ൅ ݔ15 ൅ 7    
 

 

 

ଶݔ36  .3 െ  ݔ16

 

 

ଷݔ   .4 ൅ ଶݔ6 െ ݔ െ 6   
 

   

5.   ሺݔ ൅ 3ሻሺݔ െ 5ሻ ൌ ݔሺݔ െ 4ሻ 

 

 

ଶݔ   .6 െ ݔ12 ൅ 27   
 

   

ଶݔ   .7 ൅ ݔ2 െ 24 
 

 

8. ሺݔ ൅ 2ሻሺݔ ൅ 7ሻ ൌ ݔሺݔ െ 4ሻ 
 

 

 

 

ଶݔ2 .9 ൅ ݔ െ 10 

 

 

ଶݔ16 .10 െ  ݔ25



 

Answers: 

1.  ሺݔ െ 5ሻሺݔ െ 7ሻ	   ݔ ൌ 5, ݔ ൌ 7 

2.  ሺݔ ൅ 7ሻሺ2ݔ ൅ 1ሻ  ݔ ൌ െ7, ݔ ൌ െ1/2 

3.  ݔሺ9ݔ4 െ 4ሻ    ݔ ൌ 0, ݔ ൌ 4/9 

4.  ሺݔ ൅ 6ሻሺݔଶ െ 1ሻ  ݔ ൌ െ6, ݔ ൌ 1 

5.  ݔ ൌ 15/2 

6.  ሺݔ െ 9ሻሺݔ െ 3ሻ   ݔ ൌ 9, ݔ ൌ 3 

7.  ሺݔ ൅ 6ሻሺݔ െ 4ሻ   ݔ ൌ െ6, ݔ ൌ 4 

8.  ݔ ൌ െ14/15 

9.  ሺ2ݔ ൅ 5ሻሺݔ െ 2ሻ  ݔ ൌ െ
ହ

ଶ
, ݔ ൌ 2 

10.  ݔሺ4ݔ െ 5ሻሺ4ݔ ൅ 5ሻ  ݔ ൌ 0, ݔ ൌ
ହ

ସ
, ݔ ൌ 	െ

ହ

ସ
 

 

 


